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        

2

٣
2 2 2 2

١

١٠ ١ 2 5
5 ١٠ 5٣ ٠ 5 ٠
5 5 ٣ 6

١ 2 5
6

٣ 2 5 ٠ ٠ 2 2 5 ٠ 5
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T T

a
y ax b f (x) x  , f (x)    ,  Y   ,  F   ,  c

bax b y
/ /

/ / / /
F F   ,  F Y

/
/ /

   
    

                   
   

  
     

       
        

 

2 2
١ 22

١ ٠ ١
١ ١

١ ١ 2 ١

١ 25 2 2 25 2 ١ 2

٠ ١ ١
٠ 2 2 25 2 ١٤ ١25 6 5 ٠ 2 2 25 2

2 ١ ١
6 5 ٤١ ١ 2 ١ ١ 2

2 25 2 ١ 2 ١

j j
j

/

/

/ / a / a
x   ,  w

/ b / b y
/ /




 
  

   
  

 
   
                                                


٣

2 2

١

7 625

2 5
25 2

٠ ١
١٤ ١25 6 5 7 625 ١ ١

١ 2 ١ ٠
6 5 ٤ 2 5 ١

١ 5 ١ 25
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i i

x x x x x

x x   ,  f x x x x x x

x x

/ /

/ /

     
           
     

     
       
          

١ 2 ١ 2 ٤

١ ٣ ١ 2 ٣ ١ ٣ 5

2 5 ١٠٠ 2 5 ١٠٠

5 8 ٤٠٠ ٣ 8 5 8 ٤٠٠

٠ ٠

2 5 ٠ ١ ٠ ١٠٠ ٠ ٤ ١ ٠ ٠ 2 ٠ 2٠2 5 ٠ ١ ٠ ١٠٠
5 ١ 5 ١

5 ٠ 8 ٠ ١ ٤٠٠ ٠ ١ ٠ 5٠ ٠ ١ ٠ 5٠
8 8 8 8

١ ٣ 8 ٠ ٠ ٠ 5 2 ٠ ٠ ٠ 6 ١ ٤6٠٤ ٣ ٠ ٠ ١ ٤٠٠

max

x x x
  ,  f

x   , x


 
 
 
 



  
   

١ ٤ 5

2 ٣

٠
٤6٠

2٠ 5٠

 

  تعريف دوگان :

 
i

i

x x

x x   ,  f x x x A   ,  b   ,  c

x

y y

y
A   ,  F y y

y

y

 
                 
     

 
               

١ 2

١ ٣ ١ 2 ٣

١ 2

١
١ 2

2

2 5 ١٠٠
2 5 ٠ ١٠٠

5 8 ٤٠٠ ٣ 8 ١ ٣ 8
5 ٠ 8 ٤٠٠

٠

2 5 ١
2 5

5 ٣
5 ٠ ١٠٠ ٤٠٠

8 8
٠ 8

٠

 

minFجواب مسئله دوگان :      ,  y   , y /  2 ١٤6٠ ١ ٠ 6  

١٠-                            
L L

L x y z (xy yz ) x y   , y x z   , 
x y

    
             

 
2 2 2 ١٠٠ 2 ٠ ١ 2 ٠ 2  

L x
z y  x z y x y x y x

z y

x x xx   L x z
xy yz y

no  answerx x xx

x z  ,  y   ,  

x z  ,  y  ,  

x z  ,    ,

 









             



                      

   

     

 

١ 2 ١

٤
٤

٤ ٤

٤ ٤

٤

2
2 ٠ ٣ 2 2 ٠ ٠ 2

2 2 ١٠٠ 5 2
٠ ١٠٠ 5 8 2

2 2 ١٠٠

5 2 5 8 2

5 2 5 8 2

5 2
min  ,  L    :  H   is PD   ,  >

  y  ,  

x z  ,  y  ,  







  
           

     

٤

٤ ٤

2 ٠ ٠

١٠٠ 2 ٠ 2 ٠ ٠
5 8 2 ٠ ٠ 2

5 2 5 8 2

  

  


